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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

350 ;
: —8— setVI_ETcl
300 : —0— setVI|_fgRec |
250 2 i / \ i —&—  setVI_WN
A : —@— slSetVI
200 ?"“5*""""'%‘ A

150 = = /]
100 ‘.‘E‘i‘“ jo-oe- b i_»;,!!? K/ \ \ :
50 "'y e ﬁ‘_.,’. v \/ \I \-?—o—o—o—o—o—o—o—o—o
. N\ SO cand ¢ 4 !
1
0 10 20 30 40 50 60 70



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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Trend plot forP3-10_0
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